E] Electrolux

Factory Parts Catalog)

Product No. EW30WD55QS1
EW30WD55Q

Series 30" warm drawer

Color stainless

Market North America

Wiring Diagram 318049903

Owner's Guide 318201031

Installation Instructions | 318201809

Service Data Sheet 318047425

M Electrolux

Electrolux Major Appliances
P.O. BOX 8020
CHARLOTTE, NC 28262

WARMER DRAWER

Model No.
EW30WD55Q

Publication No.
5995716460
19/07/31
(EN/SERVICE/CW)
377




Publication No: 5995716460 EW30WD55QS1

BODY

1 2 BEW30WD55QS

07/19 2



EW30WD55QS1

BODY

Publication No: 5995716460

POS. NO

# Functional Parts
* Non-lllustrated Parts

PART NO.
305309702
318250408
305611500
318388101
5303323000
5304468081
318387600
316517900
318248410
807221601
318562500
318144005
305632205
305452800
305494200
318310108
316517800
318293702
305560900
318310701
5304400427
318378603
807319601
318388000
318005114
318399000
807319701
318255301
316095800
318281508
807221801
202855101

5304522502

DESCRIPTION

Screw, phil, 4.2 x 9.5, (6)
Light, indicator, red

Clip, light

Bracket Assembly, display board, w/overlay
Nut, Keps, 8-32, (4)

Screw, 6-32 X 3/8", (4)
Control Panel, assembly, front
Board, display

Channel, drawer slide, outer
Shield, side panel, RH
Sensor, oven temp probe
Cord, service

Bushing, strain relief
Screw, ground

Bushing, cable

Panel, service

Board, control, display realy
Spacer, control

Clip, control, (4)

Bracket, mounting

Screw, 6-20 x 1", (2)

Shield, wire

Wrapper, drawer

Bumper, Absorber, felt, (2)
Thermostat, safety

Shield, wire

Shield, element, terminals
Element, warmer drawer
Clip, hold down, (3)
Wrapper, upper
Shield, side panel, LH
Holder, cable

Wiring Harness, main

07/19



Publication No: 5995716460 EW30WD55QS1

DRAWER

DEW30WD55QS o/

07/19 4



EW30WD55QS1

DRAWER

Publication No: 5995716460

POS. NO
33
34
35
36
37
38
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
60

*

# Functional Parts
* Non-lllustrated Parts

PART NO.
305338504
808248901
5304415832
808499901
318373201
318345601
318254405
5303311306
318251100
5304492916
807222101
807393601
5304443138
305616000
808499601
305615703
305619900
316380802
318378201
5304492914
5304492915
5304492913
318247403
316517505

08016432
305376110

318163602

DESCRIPTION

Screw, M4 x 5 mm, (6)

Drawer Assembly, wiglides
Screw, 8-18 x 13/32", (7)
Bracket, magnet mtg., (2)
Magnet, drawer, (2)

Rack, warmer drawer

Gasket, warmer drawer
Screw, 8-18 x 0.375

Handle, control, humidity
Liner, drawer, inner

Bracket, lens

Panel, humidity cntl

Screw, 10-24 x 3/8

Rivet, humidity panel

Spacer, handle, (2)

Screw, handle mtg., 10-24 x 2", (2)
Gasket, inner door

Handle, door, stainless

Lens, light

Trim, drawer, stainless, outer
Weld Assembly, support, glass
Glass, drawer, outer
Bracket, wall, (2)

Badge, Electrolux

Screw, truss head, 8-18 x 3/8", (7)
Screw, ST4.8 x 31.75, (4)

Cleaner, stainless steel

07/19



Publication No: 5995716460

EW30WD55QS1

WIRING DIAGRAM

07/19

N L
WARMER DRAWER CONTAOL/
CONTROL DE CAJON CALENTADOR/ W1 BKA
CONTROLE TIROIR RECHAUD
W-1
P12 ®
SAFETY THERWOSTAT/ WARMER ELEMENT/ELEWENTO DE
TERMOSTATO DE SEGURIDAD/ oAl ENTAMIENTO/ELEMENT
THERMOSTAT DE SURETE
RECHAUD
TEMPERATURE PROBE ] ve1 ¥.1
SONDA DE TEMPERATURA 6 L ]
SONDE THERMIQUE
V1 WARMER INDICATOR/INDICADOR DE
CALENTADOR/ INDICATEUR RECHAUD
V-1 5
W-1
P8
P7
P ]
BK-2 A-2
DISPLAY/ 1 P2
VISUALIZAGION/
AFFICHEUR COLORS CODE/CODIGOS/CODIFICATION DES COULEURS
R. -RED/AOJO/ROUGE
W. - WHITE/BLANGOBLANG
Y. - YELLOW/AMARILLO/JAUNE
V. - VIOLET/VIOLETA/VIOLETE
BK. - BLACK/NEGRO/NOIA
o P2 =g BR - BRDAN/ CAFE/BAUN
WIRE  GAUGE TEWP.G CSA UL STYLE
MEMBHANA ALAMBRE MEDIDA MODO UL
s F CALTBRE STYLE UL
1 1 150 ExL-1s0 321
2 2 150 10108

CAUTION:DISCONNECT POWER BEFORE SERVIGING UNIT.

T,
AVISO:DESCONECTE LA ENERGIA ANTES DE REALIZAR EL MANTENIMIENTO
DEL ELECTRODOMESTICO

AVERTISSEMENT:COUPER LE W“JRANT AVANT D'EFFEGTUER LA REPARATION

318049903REV. A



